4.2 Properties of Exponents

4.2 Properties of Exponents

¢ | can simplify a multiplication , division, and powers of powers
o | can simplify a power of a product or quotient
e | can simplify powers with negative or zero exponents

Our number system is called “Base 10" because our place values are powers of 10.
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4.2 Properties of Exponents

Power of a Power Property: _MTULT [P LY

the exponents

A

(am )'1 _

mn

ex: (x%)3

2 z
)(2- XX
Xo XA %X

[x¢]

e

. n 12 -2 - | l
S : 11. [(y+2)°F= , t2 ' 12. (2') = = — =
Power of a Product or Quotient: Raise EVERNTHIN & to the power!
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¢ Simplify anything in the parentheses first!
¢ Raise numbers to the exponent and evaluate {may need calculator)
¢ Raise variables using Power of a Power property > Multiply Exponents
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Suggested Steps to Simplify:

1. INSIDE parentheses
a. Flip any negative exponents
b. Simplify numbers
c. Simplify like bases

2. QUTSIDE parentheses
a. Flip if a negative exponent
b. Simplify numbers
c. Simplify like bases

You are DONE when...

1. No parentheses

2. No negative or zero exponents
3. Numbers are reduced

4. Each base appears only once

Do & Discuss
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Additional Resources:
e Textbook: Chapter 5.1 pg.330



